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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 3026162353
Option 1 ID : 3026169411
Option 2 ID : 3026169409
Option 31D : 3026169412
Option 4 ID : 3026169410
Status : Answered
Chosen Option: 3

Q-2 Which one of the following has a three-chambered heart?

Ans - X' 1. Tuna
v 2. Snake
/< 3. Pigeon
< 4 Rohu

Question ID : 3026162379
Option 11D : 3026169513
Option 2 ID : 3026169515
Option 31D : 3026169516
Option 4 ID : 3026169514
Status : Answered
Chosen Option : 1
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Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

3026162328
3026169311
3026169310
3026169309
3026169312
Answered

1

Q.4 When a substance is decomposed into new substances in the presence of sunlight, the phenomenon is called:
Ans X 1. Combination reaction
/< 2. Thermal decomposition

/< 3. Displacement reaction

« 4 Photolvtic decomposition

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162370
3026169480
3026169477
3026169479
3026169478
Answered

4

Q5 gfy COFFEE & FOCEEF & &9 & faGm =irar &, ar POLITE & ¥& forar seem:
Ans - X 1. LOPTGI
< 2 OLPTIE
< 3 PLOITE
v + LOPETI

Option 31D :
Option 41D :
Status:

Chosen Option :

Question ID :
Option 11D :
Option 21D :

3026162331
3026169324
3026169322
3026169321
3026169323
Answered

4
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X4 40

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question ID :

3026162396
: 3026169582
: 3026169583
: 3026169581
: 3026169584

: Not Answered
Chosen Option :

Q7 Which of the following is INCORRECT for metals?
Ans x 1.

All metals, except Mercury, are called hard metals and solids.
/< 2. They are malleable and ductile.

/< 3. They have shine and can be polished.

« 4 Melting points and boiling points are very low.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162372
3026169486
3026169488
3026169487
3026169485
Answered

4

Q8 Which of the below can be changed by application of a force?
Ans 1. Atoms of an object

/< 2. Design of an object

« 3. State of motion of an object

/< 4. Area occupied by an object

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162358
3026169430
3026169431
3026169429
3026169432
Answered

3
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Question ID : 3026162322
Option 11D : 3026169286
Option 2 ID : 3026169285
Option 31D : 3026169288
Option 4 1D : 3026169287

Status : Not Attempted and Marked For Review

Chosen Option : --

@1 Chose the INCORRECT option for Aldehydes.

Ans X 1. HCOH->Methanal = Formaldehyde
« 2. C,H,COH = Propoanal> Propionaldehyde
/< 3. CH;COH—>Ethanal-> Acetaldehyde
< 4. C3H;COH->Butanal>Butyraldehyde

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162373
3026169489
3026169491
3026169490
3026169492
Answered

4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162355
3026169418
3026169419
3026169420
3026169417
Answered

3
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X3 225

v 414

< 4100
Question ID : 3026162337
Option 11D : 3026169346
Option 2 ID : 3026169345
Option 3 1D : 3026169348
Option 4 ID : 3026169347
Status : Answered
Chosen Option : 2
Q.1 :
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Question ID : 3026162393
Option 11D : 3026169569
Option 2 ID : 3026169570
Option 3 1D : 3026169571
Option 4 ID : 3026169572
Status : Answered
Chosen Option: 3
Q.1 40 Tt $r wam &, Fsa AR FEERT F1 3T 2 0 3§ T Fan @ s wrare 66 71 3R
4 et v sitEa goaE 60 ¥ T wsRRdt @ stwa a2
Ans X1, 67
X2 72
<3 68
v+ 70
Question ID : 3026162325
Option 11D : 3026169297
Option 2 ID : 3026169300
Option 3 1D : 3026169298
Option 4 1D : 3026169299
Status : Answered
Chosen Option : 4
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Question ID : 3026162302
Option 11D : 3026169206
Option 2 ID : 3026169205
Option 3 1D : 3026169208
Option 4 1D : 3026169207
Status : Answered
Chosen Option : 4
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Question ID : 3026162305
Option 1 ID : 3026169217
Option 2 ID : 3026169219
Option 31D : 3026169220
Option 4 1D : 3026169218
Status : Answered
Chosen Option : 1
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Ans 3
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76
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7
75
X = =&
7
2
v+ 10~ IEG
Question ID : 3026162318
Option 11D : 3026169269
Option 2 ID : 3026169272
Option 31D : 3026169271
Option 4 ID : 3026169270
Status : Answered
Chosen Option : 4
Q.1
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Question ID : 3026162330
Option 11D : 3026169319
Option 2 ID : 3026169318
Option 31D : 3026169317
Option 4 ID : 3026169320
Status : Answered
Chosen Option : 2
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Ans x 1.6
v 2B
X 3D
X4 A
Question ID : 3026162348
Option 11D : 3026169391
Option 2 ID : 3026169390
Option 31D : 3026169392
Option 4 ID : 3026169389
Status : Answered
Chosen Option : 2
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Question ID : 3026162392
Option 11D : 3026169565
Option 2 ID : 3026169567
Option 3 1D : 3026169566
Option 4 ID : 3026169568
Status : Answered
Chosen Option : 1
Q2 _- : :
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Ans - X1 1863
< 2 1873
/< 31853
v 4 1843
Question ID : 3026162395
Option 11D : 3026169578
Option 2 ID : 3026169577
Option 31D : 3026169579
Option 4 ID : 3026169580
Status : Not Answered
Chosen Option : --
Q2 s frfmaz 2 N o HFFAa 408 ¥ TR s eoBa o= AT T F Fr sk 2
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Question ID : 3026162324
Option 11D : 3026169294
Option 2 ID : 3026169293
Option 31D : 3026169295
Option 4 ID : 3026169296
Status : Answered
Chosen Option : 3

o?;z The horizontal rows in a periodic table are called

Ans X 1. lanthanides
/< 2. actinides
25 3. groups

W 4 periods




Chosen Option :

Question ID : 3026162374
Option 1 ID : 3026169493
Option 2 ID : 3026169494
Option 3 ID : 3026169495
Option 4 ID : 3026169496
Status : Answered
Chosen Option : 3
Q.2 3 :
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Question ID : 3026162365
Option 1 ID : 3026169457
Option 2 ID : 3026169459
Option 3 ID : 3026169460
Option 4 ID : 3026169458
Status : Answered
Chosen Option: 3
.2
9?2 How many factors of 2° X 3* X 5¢ X 7 are odd?
Ans X1, 72
v 2 140
X 3 144
X 4 288
Question ID : 3026162308
Option 11D : 3026169232
Option 2 ID : 3026169231
Option 3 ID : 3026169230
Option 4 ID : 3026169229
Status : Answered
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Question ID : 3026162338
Option 1 ID : 3026169352




Option 2 ID : 3026169351
Option 31D : 3026169349
Option 4 ID : 3026169350
Status : Answered
Chosen Option : 3
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Question ID : 3026162332
Option 1 ID : 3026169326
Option 2 ID : 3026169328
Option 3 ID : 3026169325
Option 4 ID : 3026169327
Status : Answered
Chosen Option : 4
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Question ID : 3026162391
Option 11D : 3026169564
Option 2 1D : 3026169561
Option 31D : 3026169563
Option 41D : 3026169562
Status : Answered
Chosen Option : 2

9 ¥
Ans o 1. 264 sg. m
& 2 4000 sq. m

X 3 362 sg. m
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X4 4264 sq. m

Question ID : 3026162317
Option 11D : 3026169267
Option 2 1D : 3026169266
Option 31D : 3026169265
Option 4 1D : 3026169268
Status : Answered
Chosen Option : 1
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Question ID : 3026162344
Option 11D : 3026169376
Option 2 ID : 3026169373
Option 3 ID : 3026169375
Option 4 ID : 3026169374
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 3026162347
Option 11D : 3026169388
Option 2 ID : 3026169387
Option 3 ID : 3026169385
Option 4 ID : 3026169386
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162329
3026169316
3026169315
3026169313
3026169314
Answered

3

Ans X 1. ABP =g

v 2 Teggsr TV
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X 4 NDTV
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 3026162387
: 3026169547
: 3026169546
: 3026169548
: 3026169545
. Answered

Chosen Option :

2

Qf S ‘Love’, ‘Hate’ ¥ TafT & 38T a8 ¥ 'Plenty’
Ans x 1. Many
X 2. Enough

< 3. More
W 4+ Scarcity
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Question ID : 3026162327
Option 11D : 3026169308
Option 2 ID : 3026169307




Option 31D
Option 4 ID

Status :

: 3026169306
: 3026169305
: Answered

Chosen Option : 4

Q.3
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Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162356
3026169423
3026169424
3026169422
3026169421
Answered

1

X1 8a+b+1
X28a+b—1
K3 8a—b+1
v 4 8a—b—1

Q3 ;
6 log,p2=a, log,,3=Db g ar Eoglu% FT A AT I

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162323
3026169291
3026169289
3026169292
3026169290
Not Answered

A e cm g
Ans
X E
2

X 2 451
X 3 246
v 4 446
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Question ID :
Option 11D :
Option 21D :
Option 31D :

3026162316
3026169263
3026169264
3026169261




Option 4 D : 3026169262
Status : Answered
Chosen Option : 4
@3 Pick the odd tissue out of the following:
Ans X 1. Cartilaginous Tissue
o 2. Muscular Tissue
/< 3. Adipose Tissue
/< 4 Areolar Tissue
Question ID : 3026162377
Option 11D : 3026169507
Option 2 ID : 3026169506
Option 31D : 3026169505
Option 4 1D : 3026169508
Status : Answered
Chosen Option : 3
QY =2
9 ™, *
Ans X 1.1 erg x 1 m
X21ergx1cm
¥ 3 1 newton x 1 metre
X 4 1 newton x 1 cm
Question ID : 3026162360
Option 1 ID : 3026169439
Option 2 ID : 3026169440
Option 3 ID : 3026169437
Option 4 ID : 3026169438
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162343
3026169371
3026169369
3026169372
3026169370
Answered

1

Q.4 Two pea plants, one with round green seeds (RRyy) and another with wrinkled vellow (1rYY) seeds, produce F1
1

of characters. Choose the new combination from the following.

Ans o 1. All of the options are correct
/< 2. Round, green
/< 3. Wrinkled, vellow
/< 4 Round, vellow

progency that have round yellow (RrYy) seeds. When F1 plants are selfed, the F2 progeny will have new combination

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

3026162380
3026169520
3026169519
3026169518
3026169517
Answered

1

% v aRERE e F SuA-mug & @ A
A X 19000 kg s
v 210000 kg s
23 8000 kg s
2 411000 kg s’!

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

3026162359
3026169436
3026169434
3026169433
3026169435
Not Answered
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Question ID : 3026162306
Option 1 ID : 3026169221
Option 2 ID : 3026169222
Option 31D : 3026169223
Option 4 ID : 3026169224
Status : Answered
Chosen Option: 3
Q.4 = 3 v FH # 60 AT F mATT #¢ mear ¥ 3l a3 519 &t anver 75 R & wAT
4 o mFar ¥ e & e §, § A Hoe 30 A Y 25 e & mEeg w7 iy o s wm o
=1 e wACT = Fae G oene
Ans
21120 fe=
X 2 80 feet
'3 100 e
X490 e
Question ID : 3026162314
Option 1 ID : 3026169255
Option 2 ID : 3026169254
Option 3 ID : 3026169256
Option 4 ID : 3026169253
Status : Answered
Chosen Option : 3
°é4 The mass per unit volume of a substance is called its
Ans X 1. Pressure
' 2. Density
/< 3. Relative density
/< 4. Force
Question ID : 3026162368
Option 11D : 3026169469
Option 2 1D : 3026169471
Option 31D : 3026169472
Option 4 1D : 3026169470
Status : Answered
Chosen Option : 2
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v 2RI Fger
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Question ID : 3026162382
Option 1 ID : 3026169528
Option 2 ID : 3026169527




Option 31D : 3026169525
Option 4 ID : 3026169526
Status : Answered
Chosen Option : 2

0%4 7 975 @ U H, 4% TS WYURT 4= W 15 Tu & Be Fawr G T #ieg sae
g

Ans X1z 595
X 2 37 5875
v': 3 585
X 4 35825

Question ID : 3026162309
Option 11D : 3026169233
Option 2 ID : 3026169235
Option 31D : 3026169234
Option 4 ID : 3026169236
Status : Answered
Chosen Option: 3

% e gl & e wdr adur 9ffies & 99 #E

Ans

Za(ezlnsl

X4

[ Question ID : 3026162346




Option 11D : 3026169384
Option 2 ID : 3026169383
Option 31D : 3026169382
Option 4 ID : 3026169381
Status : Answered
Chosen Option : 3
Q4 .
o STpfas T ¥ fhde dca FisE @ &7
Ans 1118
X 2 87
v 92
2 4105
Question ID : 3026162369
Option 11D : 3026169476
Option 2 ID : 3026169474
Option 31D : 3026169475
Option 4 1D : 3026169473
Status : Answered
Chosen Option : 1
Q.5 Two ropes of lengths 48 m and 81 m are to be cut into pieces such that all are of the same length. What would be the
0 maximum possible length of each piece?
Ans X 1. 2m
K2 6m
K3 0om
v 3m
Question ID : 3026162303
Option 11D : 3026169209
Option 2 ID : 3026169211
Option 31D : 3026169212
Option 4 1D : 3026169210
Status : Answered
Chosen Option : 4
Q.5
» 24,32 3T 160 7 AA. &
Ans1.0.23
2. 0.05
3. 0.08
412
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026162301
Option 11D : 3026169204
Option 2 ID : 3026169202
Option 31D : 3026169201
Option 4 1D : 3026169203
Status : Answered




l Chosen Option : 3
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 3026162349
Option 11D : 3026169395
Option 2 ID : 3026169393
Option 31D : 3026169394
Option 4 1D : 3026169396
Status : Answered
Chosen Option : 3
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Question ID : 3026162334
Option 11D : 3026169335
Option 2 ID : 3026169336
Option 3 1D : 3026169333
Option 4 1D : 3026169334
Status : Answered
Chosen Option: 3
Q.5 b
4 T FS Fr A FEE Ay S 27
Ans X1 AT
X2 g
VIR Gl
X 4 wOST
Question ID : 3026162361
Option 11D : 3026169443
Option 2 ID : 3026169442
Option 3 ID : 3026169441
Option 4 ID : 3026169444
Status : Answered
Chosen Option : 3
QS e 3 T F AT TRTT e FT 8% TRF X R R T & M g w oo T
S 744 g wrdr ¥ Ry Fr R gty B o6
Ans o 1. T 600
X2 T 625
< 3 T 640
X 4 T 620
Question ID : 3026162312
Option 1 ID : 3026169245
Option 2 ID : 3026169246
Option 31D : 3026169248
Option 4 ID : 3026169247
Status : Answered

Chosen Option : 1

Q.5 @ Fx TF T W I
6 # ot FX fr geer F 5 ©F ww A ¥ A A #r g W A

Ans 1. 600 km
#< 2 800 km
& 3750 km

& 3T e 45 km/hr 3 60 km/hr F T F TerEr 1 AR g@E IR oA




' 2 900 km

Question ID : 3026162315
Option 11D : 3026169257
Option 2 ID : 3026169259
Option 31D : 3026169258
Option 4 ID : 3026169260
Status : Answered
Chosen Option : 4
Q5 v ffeaT goaaw &1 fRer avg @ 4fA F 5 m i FE 9% 9 e T AR sEh feufaer s
7 2000 J %1 TG F FIAA FAT §2 (AW g = 10ms?)
ans 1. 400 N
v 2 40 kg
X3 40 N
X 4. 400 kg
Question ID : 3026162362
Option 11D : 3026169448
Option 2 ID : 3026169446
Option 3 ID : 3026169445
Option 4 ID : 3026169447
Status : Answered
Chosen Option : 2
Q.5 * =
s @A H W T A 3907 99T H ¥gga g Avar g2
ANS o1 grsamteT
J 2. m
X 3. ZoloreIART
X 4 ety
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
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28 Iodine is solid due to:

Ans 1. large value of dipole moment
2. high polarisability

3. strong hydrogen bonding

4. strong covalent bond




Note: For this question, discrepancy is found in question/answer. So, This question is ignored

for all candidates.
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Q.8 The smallest particle of an element which can take part in any chemical reaction is known as a/an
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Qég An image formed by a convex mirror is always
Ans  of 1 wirtual. erect and diminished

/< 2. real, inverted and diminished

/< 3. real, erect and magnified

/< 4 virtual, inverted and magnified
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